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Circle the correct answer. Pl =0\

a)

b)

c)

d}

e)

f)

g)

h)

It is easy (o ride a bicycle on aroad that is smooth or even.
raugh flat hard
The tip of the pencil that Peteris using is not sharp.

pointed broken cull

plain ugly scary
Jerry's clothes got a little wet when it rained. == /"P =2
dry smelly damp
“lam giving these 10 you al no cost,” the clerk said.
for a few cents free foralolof Ey
Barnacle Bob was not asleep even though it was the middle of the night.
awake shouting snoring
“There is not as much to eat today." the poor woman told her family.,
more less Ihe same amount
Everyone said Nancy's house was not plain after her family painted il.

funny fancy busy
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